
 

 

 

When you land on an addition, tell me the answer. 

Bonus points for telling me a smaller  

addition you could use to solve it. 

I know that 20 + 30 = 50 because 2 + 3 = 5.  

Start 

short 
cut 

 

short 
cut 

 

Finish 

20 + 50 

70 + 30 

130 + 50 

20 + 40 

30 + 50 

80 + 110 

120 + 140 150 + 50 

30 + 50 

70 + 50 

210 + 220 

350 + 20 

20 + 70 

50 + 60 

240 + 520 

30 + 50 40 + 30 

120 + 50 

320 + 500 

80 + 30 

70 + 30 20 + 50 

60 + 50 240 + 320 

30 + 320 

420 + 40 

340 + 520 

30 + 320 

700 + 250 

50+ 80 


